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AL 3] 5H D) 7H 81 98 108 18 125 1H 25 38 T ol R E]
= 6,293 6,315 12,608 6,304
kg 4,922,990 5,203,290 10,126,280 5,063,140
o TEAEK = 3,342 3,211 6,553 3,277
ARMIH(ERR) [ PN kg 2,516,030 2,496,050 5,012,080 2,506,040
T (— %) 8 a 20 0 20 10
- < PN kg 9,420 0 9,420 4,710
- it o 8 a 34 35 69 35
ARMTH(RRER) PN kg 18,090 10,590 28,680 14,340
B 7 (4 G — 8 = 97 128 225 113
M H (RN PN kg 21,710 28,700 50,410 25,205
= ' 5 - % 8 a 35 62 97 29
Gk PN kg 119,620 131,500 251,120 125,560
8 a 5 54 109 55
i PN kg 36,360 42,100 78,460 39,230
P - 8 = 123 114 237 119
R REATs [ PN kg 98,800 96,520 195,320 97,660
= o * TAEK S 3 7 7
BAS 1| ko 1 280 4810 7,630 3.81D]
= wmreR | & 1 10002 9,923 T T T T T T T T T 25T Loo0]
= PN kg 7,745,840 8,013,560 0 0 0 0 0 0 0 0 0 15,759,400 1,313,283
X - 1 = WX = T 57 59 T 116 58
(X OCE AFEe) AT I 160 155 1l 354 177
& & | WKW U 726 237 0 0 0 0 0 0 0 0 0 ol 770 39
2 JEANE
BT L8] 5H D) 7H 81 98 108 18 125 1H 25 38 TR ol R E]
CH D) =23 2,000.17 2,010.62 4,010.79 2,005.40
e 25% t/A8 3,239.10 2,205.35 5,444.45 2,722.23
- 35% 3.307.09 2,190.12 5.497.21 274861
i 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00| 14,0952.45 T,226.04]
3 1) =) b=
fiz 7B 81 ER:| 108 18 128 1H 25 38 RaEE]
LCESiESEE T 1,274 1,275 1,275
15% ECABAONRIRE C 190 187 189
HEAZPOCORE ppm 13 13 13
EESIZS T 1,286 1,280 1,283
28R ECABAONRE C 186 186 186
FEAZROCORE ppm 12 14 13
B ESIRSE T 1,292 1,277 1,285
38% ECABAONRIRE C 187 188 188
HEAZPOCORE ppm 13 16 15
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TERRUIE VU AR 221 T T IS Hl
5% 5% 354
—— R SHI0H~22H
PR TIJRAY 5H12H~20H
N - TG~ SH1/H~18H
R AR SH17H~18H
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5 {3 3] 5H D) 7H 8H 98 108 115 128 1H 25 38 RaEE]
i) — — — — — — — — — —
15% AIERRB — — — —
JAATS ARRE ng-TEQ/mMN — — — — — — — — #DIV/0!
TRERE — — — — — — — — — —
25% AIEFRSRA — — — — — — — — — —
IAAFS AERE ng-TEQ/miN — — — — — — — — #DIV/0!
i — — — — — — — — — —
35% AIERRB — — — — — — — — — —
IAATSASRRE ng-TEQ/mN — — — — — — — — #DIV/0!
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TR E = = 7H
AIERRB — - 280
1=2% FUCAREE g/mN - 0.001 % 0.001 |
- BiER LR ppm - 1.0 *& 1.0 %
BRI CEE ppm - 20.0 20.0
Bk 3 ppm — _é.o 5.0
TE — ji=) 8
AIERRB — 268 28H
rex% FUCARE g/miN 0.001 %7 0.001 % 0.001 |
- BiER LR ppm 1.0 %% 1.0 *& 1.0 %
ES ppm 22.0 26.0 24.0
ppm 6.0 5.0 5.5
7 — 2H =]
AIERRB — 268 28H
=% FVCARE g/miN 0.001 %7 0.001 % 0.001 |
- BiER LR ppm 1.0 *& 1.0 *& 1.0 %
ERECRE ppm 23.0 19.0 21.0
BLKTRE ppm 7.0 6.0 6.5
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